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struct SQAM
int ch[MAXL][MAXM], las[MAXM];
int root;
void init
root=1;//000 00

void work(char s
int len=strlen(s);
int i=len-1;i>=0;1i--
int j=0;j<MAXM;j++) ch[i+2][jl=las[j];/000000000 OO0
gl100o00000ooo?
las(s[i]-'a'l=1i+2;

int i=0;i<MAXM;i++) chlroot]|il=las|i];

sl,s2;

oo

googod

O000000 $S$0%sq$s 0 0000000000000 $T$SNOO $T$SO OO $Ss0 T DOQ
$len(S)<10~{5},g=<10"{5},\sum len(T)<10"~{6}$
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O00000ooodo st{0}¢sJiooopoU0Ui0DOO000OOOoO0U0UOoDOOODOoooOooOOoooo
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0000000000000 00o0DooooooooDg $0(em$ 00000 ODOODODOODO
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00000000000000 $0(|S|+\sum |T|*log(|S|))$ O O

const int MAXN=1001000;
const int MAXM=26;
int q;
char s[MAXN],t[MAXN];
vector<int> pos|[MAXM|;
bool work
scanf("%s",t);
int len=strlen(t);
int nowpos=-1;
int i=0;i<len;i++
vector<int>:: iterator y=upper bound(pos/tli]-

a'l.begin(),pos[t[i]-'a'].end(),nowpos);
y==pos[t[i]-'a'].end false;
nowpos=*y;
true;

void solve
scanf("%s",s);
scanf("%d",&q) ;
int len=strlen(s);
int i=0;i<len;i++
pos(slil-'a'l.push back(i);

q_-
work puts("Yes");
puts("No");

int main
solve();
0;

000000000 $vectors OOO0ODOODOOOODODO $0(logn)s 00O 0O

#include<iostream>
#include<cstdlib>
using namespace std;
const int N=1e5+10;
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struct fhq treap
int lson,rson;
int val, key;
int size;

fhq treap fhqlN/;

int root[N!,alN];

int tot;

inline int newnode(int val
tot++;
fhgltot!.key=rand();
fhgltot|.val=val;
fhq[tot].size=1;

tot;

inline void pushup(int pos
fhglpos!.size=fhq!fhq/pos]|.lson|.size+fhq/fhq/pos]|.rson!.size+1;

void split(int pos,int val,int &x,int &y
I'pos
X:y: ;

’

fhq!pos|.val<=val
X=pOs;
split(fhq/pos!.rson,val,fhql[x]|.rson,y);

y=pos;
split(fhql/pos|.lson,val,x,fhqly!.lson);

pushup(pos);

int merge(int x,int y
X[y
X+Y;
fhql[x].key<fhqly].key
fhq!x|.rson=merge(fhql[x!.rson,y);
pushup(x);
X;

fhgly!|.lson=merge(x,fhqly|.lson);

pushup(y);
y;

void ins(int &pos,int val
int x,y;
split(pos,val,x,y);
pos=merge (merge(x,newnode(val)),y);
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void del(int &pos,int val
int x,y,z;
split(pos,val-1,x,y);
split(y,val,y,z);
y=merge(fhqly!|.lson,fhqly!.rson);
pos=merge (merge(Xx,y),z);

int get suc(int &pos,int val
int x,y;
split(pos,val,x,y);
int ans=y;
fhqlans|.lson
ans=fhqlans|.lson;
pos=merge(Xx,y);
fhqlans|.val;

int main
int t,n,m,Kk;
cin>>t>>n>>m>>K;
int i=1;i<=n;i++
cin>>alil;
root/alil|=merge(rootialil|,newnode(i));

int opt;
int x,y;
int pos=0;
bool flag;
int i=1;i<=m;i++
cin>>opt;
opt
cin>>x:
pos=u;
flag=true;
int j=1;j<=x;j++
cin>>y;
pos=get suc(root|y|,pos);
I'pos
flag=false;

flag
cout<<"Yes\n";

cout<<"No\n";

cin>>x>>y;
del(rootlalx]],x);//00 01
alx]=y;//00
ins(rootlalx]!,x);/00
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1.https://www.luogu.com.cn/problem/P4112#submit
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#include<bits/stdc++.h>
using namespace std;
typedef long long 11;

const int MAXL= C
const int MAXM=46;

const int MAXN= ;
struct SAM
int las, tot;
struct NODE

int ch[MAXM];

int len, fa;

NODE
memset(ch,0,sizeof(ch));
len=0;
fa=0;

dian[MAXN<<1];
void init
las=tot=1;
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void add(int c
int p=las;
int np=las=++tot;
dian|[np].len=dian|p!.len+1;
; p&&tdianip!.chlc]; p=dian/p].fa)dian(p!.ch[cl=np;
Ip)dian[np].fa=1;//000 case 1

int g=dian|p!/.chlc];
dian[q].len==dian|[p]|.len+l)dian[np]|.fa=q;//0 [ case 2

int ng=++tot;
dian|[nql=dian(q]l;
dian[nql.len=dian|p].len+1;
dian|[q!.fa=dian[np].fa=nq;
; p&&dianip!.chlcl==q; p=dian/p!.fa)dian|[p|.chicl=nq; //
O00Ocase 3

S1,52;

char A[MAXL],B[MAXL];
int la, lb;

struct SQAM
int ch[MAXL][MAXM], las[MAXM];
int root;
void init
root=1;/000 00

void work(char s
int len=strlen(s);
int i=len-1;i>=0;1i--
int j=0;j<MAXM;j++) ch[i+2]1[jl=las[jl;/000000000 000
Oliooooonooonon?2
las(s[i]-'a']l=1i+2;

int i=0;i<MAXM;i++) chlroot][i]=las|i];
sl,s2;

struct Node
int a,b,s;

int vis|[MAXL<<1][MAXL<<1];

int BFS(int v
gueue<Node>q;
vis[1l][1]=v;
Node ntmp;
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ntmp.a=1,ntmp.b=1,ntmp.s=0;
g.push(ntmp);
lq.empty
ntmp=q.front();
int a=ntmp.a,b=ntmp.b,s=ntmp.s;
//printf("%d %d %d %d\n",a,b,s,v);

q.popl);
int i=0,da,db; i1<MAXM; i++
V;;Sl.dian al.chli],db=S2.dian[b|.ch[i];
da=SlY:zan al.ch(i],db=s2.ch[b][1i];
da=lez; alli],db=S2.dian[b].ch[i];
V==

da=sl.chlal[i]l,db=s2.chibl[i];

//printf("%d %d %d\n",da,db,v);
visidal(db|==v ;
da&&!db s+1;
da&&db
Node nntmp;
nntmp.a=da,nntmp.b=db,nntmp.s=s+1;
g.push(nntmp);
visidal[dbl=v;

int main
scanf("%s%s",A,B);
la=strlen(A); lb=strlen(B);
sl.init();s2.init();S1.init();S2.init();
int i=0; i<la; i++
Sl.add(A[i]-"a');

sl.work(A);
int i=0; i<lb; i++
S2.add(B[i]-'a"');

s2.work(B);
int al=BFS ,a2=BFS ,a3=BFS ,a4=BFS ;
printf("%d\n%d\n%d\n%d\n",al,a2,a3,a4);

’
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